Practical Exercise:

A 2  ½ ton truck with a 1 ½ ton trailer attached is to be loaded aboard a C-141B aircraft. The vehicle weighs 17,000 pounds and the trailer weighs 2,500 pounds. MB-2 devices and 25,000 pound fittings will be used for the trailer. Restraint equipment will be employed at 30 x 30 angle of application. Determine the number of tie-downs required secure each item in the aircraft.

A 12,500-pound vehicle is to be loaded aboard a C-130 aircraft. Only MB-1 chains and devices will be used. Determine the number of tie-downs required securing the vehicle using a 30 x 30 angle of application.

A 30,000-pound vehicle is to be loaded aboard a C-5 aircraft. MB-2 tie-downs will be employed with a 45 x 45 angle of application. Determine the number of tie-downs required securing this vehicle in the aircraft.

A 5-ton truck-trailer with 12 - ½ ton semi-trailer attached is to aboard a 

C-141B aircraft. The truck-trailer weighs 20,100 pounds and trailers 14,300 pounds. MB-2 tie-downs and 25,000 pound fittings will be with the 30 x 30 angle of application. Determine the number of required tie-downs to secure each item in the aircraft.

A 9,600-pound vehicle will be loaded on a C-141B aircraft. MB-1 chains and devices will be applied with 30 x 30 angles of application. Determine the number of tie-downs required securing the vehicle safely in the aircraft.

Utilize the chart below to calculate answers.
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